LAW SCHOOL COUNCIL RSO Funding Allocation Report

Meeting Date: 2/15/2023 Meeting Time: 7:00 p.m. Meeting Location: Zoom

LSC Members Present: Briana Bedoya, Samantha Seiglie, Keeley Smith, Cara Campbell, Sarai Glaze, Leila Oberschall and Emma Wells

Name of RSO	Event Information (Date, Location) Just the EVENT name	Food	Clothing/ Apparel	Contractual services	Travel	Expenses (i.e. Decorations, meeting space)	Total
Black Law Students Association	Black History Month Trivia Night 2/28/23 12:15-1:30 pm On Campus	\$545					\$545
Cuban American Bar Association	Diversity on the Bench Panel 3/8/23 at 12:30-1:30 pm On Campus	\$278.90					\$278.90

Cuban American Bar Association	Mid Semester Break with CABA 3/2/23 at 12:15-1:15 pm On Campus	\$55.98			\$55.98
Association for Criminal Justice	ACJ and Moot Court 12:30-1:30 pm On Campus	\$380.90			\$380.90
Health Law Society	Health Law Society Informational Meeting 10:15-10:45 am On Campus	\$107			\$107
Real Property Probate and Trust Law Society	RPPTLS March Meeting 3/8/23 at 12:30 pm	\$258.90			\$258.90

	On Campus				
Hispanic Law Student Association	HLSA presents: The Honorable Series 3/22/23 at 12:30 pm On Campus	\$539.56			\$539.56
OUTLaw at FSU College of Law	Trivia Lunch 3/21/23 at 12:30 pm On Campus	\$136.11			\$136.11
Total					\$2,302.35

Meeting Minutes

Organization: BLSA

Date/time of event: 2/28/23 from 12:15-1:30 pm

Amount requested: \$545

Pineappetit

- Jerk chicken pineapple bowl (15 at \$11.50 a piece) (\$172.50)

- Teriyaki chicken bowls (10 at \$11.50 a piece) (\$115)

- Chicken sweet n spicy (15 at \$11.50) (\$172.50)

- Vegetarian bowl (10 at \$8.50 a piece) (\$85)

Purpose of funds: The Black Student Association will be hosting their annual "Black History Month Trivia Night". The event will take place at the law school's rotunda and lunch will be served by Pineappettit. The trivia questions will focus on prominent African Americans and highlight their achievements. We are hoping that the event will be both informative to the general public and a fun event for the entire student body. We are anticipating that at least forty members will attend the event, but are hoping that other students and organizations will join.

	Briana Bedoya	Samantha Seiglie	Keeley Smith	Cara Campbell	Sarai Glaze	Leila Oberschall	Emma Wells
Vote	YES	YES	YES	YES	-	YES	YES

VOTE: YES

Notes: Sarai abstains due to presence on BLSA's executive board

Organization: CABA

Date/time of event: 3/8/23 at 12:30-1:30 pm

Amount requested: \$278.90

Chick-fil-A

- Large Hot Chick-fil-A Nuggets Tray (2 at \$102 a piece) (\$204)

- Grilled Market Salad w/ No Chicken (10 at \$7.49 a piece) (\$74.90)

Purpose of funds: CABA is hosting a panel of different judges of all different levels. Students will be able to learn about different judges of diverse backgrounds and be able to ask them questions. This is a great opportunity to have students learn the responsibilities and roles of different judges. This will give them the ability to learn about different facets of the judicial system. The event will be moderated a former Florida solicitor general. Students will be able to meet different judges and have the opportunity to network. This is a great opportunity for students to have the ability to get their questions answered.

	Briana Bedoya	Samantha Seiglie	Keeley Smith	Cara Campbell	Sarai Glaze	Leila Oberschall	Emma Wells
Vote	YES	YES	YES	YES	YES	YES	YES

Organization: CABA

Date/time of event: 3/2/23 at 12:15 - 1:15 pm

Amount requested: \$55.98

Publix

- Pastry Delights Platter Large 40-Count (2 at \$27.99 a piece) (\$55.98)

Purpose of funds: Students will have the opportunity to ask CABA members about the organization and provide input about potential events. Students will get to interact with a diverse amount of students and learn about their different experiences. This is an opportunity to ask the e-board of CABA about future e-board positions and the application process. Students will be able to have conversations with the members of CABA, as well, have some delicious pastries. Students will be able to take a nice break to refuel and be able to continue studying.

	Briana Bedoya	Samantha Seiglie	Keeley Smith	Cara Campbell	Sarai Glaze	Leila Oberschall	Emma Wells
Vote	YES	YES	YES	YES	YES	YES	YES

Organization: ACJ

Date/time of event: 3/2/23 at 12:30-1:30 pm

Amount requested: \$380.90

Chick-fil-A

- Grilled Market Salad w/ No Chicken (10 at \$7.49 a piece) (\$74.90)

- Large Hot Chick-fil-A Nuggets Tray (3 at \$102 a piece) (\$306)

Purpose of funds: ACJ and Moot Court will be welcoming Michael Ufferman to discuss Post-Conviction Appeals. Mr. Ufferman has handled hundreds of state and post-conviction motions. He has also appeared at oral argument before the United States Court of Appeals for the Eleventh Circuit, the Supreme Court of Florida, and the 1st, 2nd, and 5th District Courts of Appeal in Florida. This event will allow students to understand the post-conviction process and ask questions regarding appellate work. Both organizations will have a list of questions for Mr. Ufferman which include how he became an appellate lawyer, what law students can do to gain appellate experience, and his tips for how to be an effective appellate lawyer. Mr. Ufferman will also speak about how his experiences speaking in front of multiple appellate courts and how students can thrive under appellate scrutiny.

	Briana Bedoya	Samantha Seiglie	Keeley Smith	Cara Campbell	Sarai Glaze	Leila Oberschall	Emma Wells
Vote	YES	YES	YES	YES	YES	YES	YES

Organization: HLS

Date/time of event: 3/24/23 at 10:15-10:45 am

Amount requested: \$107

Chick-fil-A

- Large Chick-fil-A Chick-n-Minis Tray (2 at \$34 a piece) (\$78)

- Regular 96 oz Coffee (\$16)

- Galloon Freshly-Brewed Iced Tea Sweetened (2 at \$13 a piece) (\$6.50)

Purpose of funds: The Health Law Society is hosting an informational meeting where we will talk about the organization and our future goals. Students will be able to ask questions and let us know what events they would like us to host. Students will be able to interact with a diverse group of people and learn about the day to day responsibilities of the Health Law Society. Students will be able to learn about the different opening in the e-board for the Health Law Society next semester and can ask questions about job descriptions. Students are able to help the Health Law Society brainstorm ideas for next semester.

	Briana Bedoya	Samantha Seiglie	Keeley Smith	Cara Campbell	Sarai Glaze	Leila Oberschall	Emma Wells
Vote	YES	YES	YES	YES	YES	YES	YES

Organization: RPPTLS

Date/time of event: 3/8/23 at 12:30 pm

Amount requested: \$258.90

Chick-fil-A

- Regular Chick-fil-A Chicken Sandwich Packaged Meal (30 at \$8.63 a piece) (\$258.90)

Purpose of funds: This will be our spring meeting (we have not held a COGS sponsored event since September 2022) event where we will discuss our upcoming April social with local attorneys as well as e-board elections (and campaigning) for next year (2023-2024). We will also discuss the Florida Bar RPPTL executive meetings which will be held in May and June and how law students can attend. Finally, we will make necessary amendments to our constitution. If time permits, we will have sign ups for our attorney-student mentor program.

	Briana Bedoya	Samantha Seiglie	Keeley Smith	Cara Campbell	Sarai Glaze	Leila Oberschall	Emma Wells
Vote	YES	YES	YES	YES	YES	YES	YES

Organization: HLSA

Date/time of event: 3/22/23 at 12:30 pm

Amount requested: \$539.56

Super Perros

- Side of Sweet Plantains (4 at \$3.64 a piece) (\$14.56)

- Plain Arepa (10 at \$3.64) (\$36.40)

- Arepa Carne (8 at \$8.79 a piece) (\$70.32)

- Empanada Colombiana (chicken) (10 at \$3.12 a piece) (\$31.20)
- Empanada Argentina (spinach) (12 at \$3.12 a piece) (\$37.44)
- Empanada Colombiana (beef) (10 at \$3.12 a piece) (\$31.20)
- Pollo Arepa (30 at \$8.32 a piece) (\$249.60)
- Empanadas Argentina (beef) (10 at \$3.12 a piece) (\$31.20)
- Tip (\$37.64)

Purpose of funds: This event will be a launch of a series of bringing in Hispanic judges throughout Florida and the United States. The goal of the event is to expose law students to legal leaders and provide an opportunity to network and interact. Only 5% of lawyers are Hispanic, this event will help our members overcome barriers and learn from judges. Most of our members are eager to learn and interact with judges from a variety of backgrounds and fields. The first honorable event with be with a General Magistrate in the Family Division for the 11th Circuit.

	Briana Bedoya	Samantha Seiglie	Keeley Smith	Cara Campbell	Sarai Glaze	Leila Oberschall	Emma Wells
Vote	YES	YES	YES	YES	YES	YES	YES

Organization: OUTLaw

Date/time of event: 3/21/23 at 12:30 pm

Amount requested: \$136.11

Publix

- Publix Deli Macaroni and Cheese (\$22.14)

- Cookie Platter with Icing Medium 48-Count (\$18.99)

- Publix Deli Fresh Fruit Platter, Large (\$44.99)

- Publix Deli popcorn Chicken Box Large Hot (\$49.99)

Purpose of funds: OUTLaw would like to host a lunch event where attendees can play LGBTQ+ centered trivia. Trivia will be played jeopardy-style with teams of attendees competing against each other. There will be a broad range of LGBTQ+ trivia topics, ranging from LGBTQ+ history to LGBTQ+ pop culture to modern LGBTQ+ legal issues. The goal of the event will be to have fun with likeminded individuals while also hopefully learning something new. We anticipate having 25 attendees based on the attendance of our last lunch event.

	Briana Bedoya	Samantha Seiglie	Keeley Smith	Cara Campbell	Sarai Glaze	Leila Oberschall	Emma Wells
Vote	YES	YES	YES	YES	YES	YES	YES